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1. BREHEOR
(1) BENE
FEREEENLE 69, 080, 000 67, 300, 000 1, 780, 000
% BUEL 5y & 59, 000, 000 58, 500, 000 500, 000
S B % 3, 000, 000 2, 950, 000 50, 000
THESE 7, 080, 000 5, 850, 000 1, 230, 000
FEEIREFESZIENE 2, 350, 000 2, 200, 000 150, 000
FBEIREZESZIONE 2, 350, 000 2, 200, 000 150, 000
PR B ET NS 0 0 0
BREMRINFEZ IO 0 0 0
e 420, 000 420, 000 0
EEESDEE 420, 000 420, 000 0
TR &E 23, 083, 000 23, 300, 000 A 217,000
SZEGE G ARt & 9, 083, 000 9, 300, 000 A 217,000
S (K) ETH R4 14, 000, 000 14, 000, 000 0
M AR 100, 000 100, 000 0
ZEHLE 1, 000 1, 000 0
MEI 4 99, 000 99, 000 0
T N AR Bt 95, 033, 000 93, 320, 000 1, 713, 000
(2) RBREEH
Ex - 94, 003, 000 92, 770, 000 1, 233, 000
TR & 59, 000, 000 58, 500, 000 500, 000
X EE 3, 000, 000 2, 950, 000 50, 000
BElFEY 13, 857, 000 13, 600, 000 257, 000
EEBHIE 2, 998, 000 2,900, 000 98, 000
RS B A 373, 000 371, 000 2, 000
FIRILH & 855, 000 844, 000 11, 000
BHIEAE 76, 000 44, 000 32, 000
DB 17, 000 20, 000 A 3,000
R mE 430, 000 530, 000 A 100, 000
BEERE 900, 000 1, 020, 000 A 120, 000
RmEAE 35, 000 270, 000 A 235,000
HEer e EmnE 143, 000 150, 000 A 7,000
HEERE 755, 000 720, 000 35, 000
EER 215, 000 110, 000 105, 000
Il A2 305, 000 300, 000 5, 000
StEKEE 121, 000 120, 000 1, 000
EE8 3, 230, 000 3, 600, 000 A 370,000
R 1, 195, 000 1, 252, 000 A 57,000
Hale 4, 365, 000 4, 030, 000 335, 000
HBLAGE 850, 000 200, 000 650, 000
XhEHEE 8, 000 9, 000 A 1,000
EitE 760, 000 650, 000 110, 000
B E 10, 000 10, 000 0
LR 450, 000 500, 000 A 50, 000
XTI FHE 10, 000 20, 000 A 10, 000
EEEX 0 0 0
MR 45, 000 50, 000 A 5,000
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Egiik= 2, 880, 000 3, 550, 000 A 670, 000
L] 1, 233, 000 1, 520, 000 A 287,000
EEBHIE 208, 000 268, 000 A 60, 000
BB T E A 26, 000 35, 000 A 9,000
RS 58, 000 77, 000 A 19, 000
BHEAEE 4, 000 6, 000 A 2,000
SRE 120, 000 140, 000 A 20, 000
TEERERBE 110, 000 135, 000 A 25,000
RE A RE 50, 000 50, 000 0
BiEERE 156, 000 180, 000 A 24,000
B EZE 1, 000 1, 000 0
HEE 2L R 8, 000 45, 000 A 37,000
HFEL R 6, 000 20, 000 A 14, 000
ErEE 30, 000 30, 000 0
ER S A& 180, 000 198, 000 A 18, 000
FEKEE 0 0 0
4T 132, 000 210, 000 A 78,000
R 113, 000 135, 000 A 22,000
Hale 0 0 0
HBAR 20, 000 0 20, 000
XAatEE 300, 000 300, 000 0
EitE 80, 000 160, 000 A 80, 000
XLFHCEE 0 0 0
HE 45, 000 40, 000 5, 000
HEEREH 96, 883, 000 96, 320, 000 563, 000
LR E B A 1,850, 000 A 3,000, 000 1, 150, 000
2. RESNEEOE
(1) BEMRIE
& & & EE A 0 0 0
& - RALEER D IE 0 0 0
FEEERALE 0 0 0
R SN AR BT 0 0 0
(2) REINEH
BEEEETA BrH) 18 0 0 0
& - RAESE M 0 0 0
RHEEEREXH 0 0 0
R E R 0 0 0
LR E R 0 0 0
U H— AR IE R EE B AR A 1,850, 000 A 3,000, 000 1, 150, 000
— R IERMESEERS 5, 500, 000 5, 500, 000 0
— R ERR EEHIRR S 3, 650, 000 2, 500, 000 1, 150, 000
0 $5EERMEEBOR
(1) &
N3 5t 0 0 0
(2) #EH
EHRE 0 0 0
2 HA e E IR PR EE Y AR 0 0 0
EEERMESNEES 0 0 0
EEIERMENERES 0 0 0
I ERRMEMEES 3, 650, 000 2, 500, 000 1, 150, 000




IRXFEEI R DERL

1. REEBRUMBEENEET D RiA

# H

THE

[HEESHNIDE]

(R EIEEIA)

[ 1 & EE TR A

B E AR B R A A

E={H dh FTEHIRA

ERE N AMETEAIUIA

B - REESFR Y XA

Be R Y A

PREEEER Y LA

FRFEER D INA

e B ERAIRA

A A 51 5 & B IA

=1 =1 =1 =] =l = = =1 =2 =] =]

=1 =2 =1 = =1 =1 =1 (=1 =] (=] (=]

OIOC|O|C|IC|O|C|IC|o|Io|O

HEEBINAGT

rEEE )

[ 7 EEEAS 3

B o B A S

%5 A il A S H

EEENIAERE A S

e - AT

TeX

PREIE & 3 HY

TREE&

T EEERE H

B A5 58 RS

BEES X HET

(=1 =2 [=] [=] (=] [=] [} [a] [} Fa) fo]

=== = =l = =1 (=2 =2 k=] L=

R =l =R = =2 = (=i (=2 [=] [ k=)

[ ESTHEEIN K O]

A ESTRENIIA)

EASIA

o=

(=]

o

HHEASIRA

(=]

=]

(o]

M ESTREII AR

(G E TEEh )

fEAGRFH X

B ASRER M

<

[

O

M BIEE S E

2. fEAGEIREH

0 5 R IT DB A SAIRERITS, 0007 &7 5,

3. EHABRSH
HF0 5 ERE
SfeEE
ST HEE
40 8
GO EE

4. FERPICBT D THOMBIZ OWTOTHRAHIL, EXE32HKE6TDLBVRRERIIIET S,

656,512 M
592,272 H
361, 584 M
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220, 884 M




